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Non Verbal Reasoning Practice Paper: Test 1

Look at the shapes below. One of the shapes is most unlike the others. Choose which one.
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Section two: Reflections
Which shape on the right is the reflection of the shape on the left?
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tion three: Relationshi

From the given choices, work out which option best completes the group.
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Which code matches the shape or pattern given at the end of each line?
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END OF TEST: CHECK YOUR ANSWERS
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In which larger shape is the shape on the left hidden?
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Section two: sequences

Which one comes next?
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Which one comes next? (continued)
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Section three: rotations

Only one of the figures on the right can be rotated to make the figure on the left. Choose
which figure can be rotated to make the figure on the left.
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On the left of each question are two shapes. You must work out how they are connected.
Now look at the third figure. Which of the five other figures that follow is related to the third in
the same way as the second is to the first?
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END OF TEST: CHECK YOUR ANSWERS



